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IMPORTANT NOTES

Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.

Except Hindi Grammar and Hindi Essay question paper, all other question papers cari be written either in Hindi or
English language. j

j
The candidates should not write the answer beyond the prescribed limit of word. Candidates should write the answers
within the given lines. Please do not write In the blank space. :

3TTTT^,

Please write answers only in the prescribed space of booklet. Do not make any matik of Identity inside the booklet
(including rough paper page) like roll number, name, any other name, address or subh other mark. Do not enclose
anything with the answer booklet. The candidature of candidates violating these instructions would be cancelled without
even giving them any other notices. i

Candidates are directed that they should not write (answer) outside the border line in ev^ry page. Answer written outside
the border line will not be checked by the Examiner. j

If there is any sort of ambiguity/mistake either of printing or of factual nature then out df Hindi and English version of
the question, the Hindi version will be treated as standard. !

(G) !
The Question-Answer Booklet Is provided In a sealed envelope to the candidate. i

(H) 3^.T?T.3m. ^iR&d [^^<"1 ^1 g!TR^f%^
3T).T?T.3TO. H:I4) j
Candidate should fill up all desired details on this attached OMR Sheet of Question-Apswer Booklet with blue/black
ball point pen. Please ensure that this OMR Sheet is not torn or damaged. •

(I) ^3Tl.T3TT.3TK.H^^^'^'f^yrTf^|, 1^^^' l^^^aTGTgff^^^ll
This OMR Sheet consists of two parts in which some information is pre-prlnted; remaining details have to be filled
by the candidates. i

If the Question-Answer Booklet is torn or not printed properly, immediately bring it !lo notice of invigilator and get
changed the Question-Answer Booklet, otherwise the candidate will be liable for that, i

Special Note : If there is any wrong Information filled by the candidate then his candidature for the entire examination
shall be rejected by the commission, for which he himself will be liable. :

SPECIAL INSTRUCTION

(A) 1^rR%3lcrfcf^jiRT: I, cnymlq ̂  414

The question paper are three questions as very short answer type, short answer type and long answer type questions
in each part, in which there are sub-questions in each question. The maximum marks are printed in front of each
question. i
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I\/l-2020/GS-lll/05
iSffia

3IH : 1. 30 3rfcr7i95lfk3q-$R^|, ^ I % I ytOcft nn-i 03 ((ftt)
3T^ ?BI t I I (30x3=90)

Que.; 1. ThIsquestioncontainsSOvery short answer type sub-questions. Answer each question In ideal IGwords^onellne. All questions are compulsory.
Each question carries 03 (three) marks.

51^: (1.1) 200N^Tr^^ SO^.TH. s(oM4H ^ %£RTT IOT 40 N% "Ef^ ̂  ̂ t 1
?

A force of 200 N pulls a sledge of mass 50 kg and overcomes a frictlona! force of 40 N. What Is the
acceleration of the sledge ?

TO; (1.2) Sfet ̂  ̂ ^ I
Define terminal velocity.

TO: (1.3) ^ "ST^iR113^ "q^ ^pRcTT t, eft 3Tk ̂  ̂ W TWra ̂ *l\ ?
When light is transmitted from one material to another, then what will be the effect on its frequency,
wavelength and speed ?

TO: (1.4) 13^ 3mTg efh TfTTT ^ % 9ig3ff % WTR t 1
Write name of a non-metal having lustrous property similar to metals.

TO: (1.5) PlHr^R^d ̂  ̂ ̂  Srof ̂  :
NHg, AlClg, or, SnCI^
Identify the Lewis acids in the following ;
NH,. AICL, or. SnOL

•5-
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M-2020/GS-III/06

3171: 1. 30

I

'3q-3I7Tf, 3Ii^3I7T%3TR tg I STftgrf | ] 03 (fft^)
(30x3=90)

Qu©.: 1 This question contains 30 very short answer type sub-questions. Answer each question in Ideal 10 words/on© line. All quesUons are compulsory
Each question cam'es 03 (three) marks.

TO: (1.6) 3^ ^ ^ % TOR
Write the types of hydrogen bonding in P-nitrophenol and O-nitrophenol.

3tR :

TO: (1.7) ^ I
Define the transpiration.

3Tt< :

TO: (1.8) WMmwl?
What is haemoglobin ?

:

TO; (1.9) ^ "^f ^ ̂ ™ ■feTfeti
Write the names of fat soluble and water soluble vitamins.

^tR :

TO: (1.10)' I
Define the compiler.

3tR :

-6-
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'iyMsos

*lyM=03
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M-2020/GS-1II/07

:  1. 30 3q-3rH I, ^ 'Ig ^ft*n 10 51^/1*3; ■#ft I ̂ 3RH 3iPyi4 % I 03 (#t)
3m I I (30x3=90)

Que.; 1. This question contains 30 very short answer type sub-questions. Answer each question In ideal 10 words/one line. All questions are compulsory.
Each question carries 03 (three) marks. '

3^: (1.11) "^TFT 5 ?
What is blog ?

:

TO: (1.12) ^
List the different stages of e-governance.

"HtR :

TOT: (1.13) <d41«h<"j| Tf "feH "RH "STTT yio^iRa ?
1 1 1 24J. + 3-!. + ?+2- = 13-
2  6 3 5

What value will replace the question mark in the following equation ?
1 1 1 2

4- + 3- + ? + 2- = 13-
2  6 3 5

"StTK :

TO: (1.14) 96%"|, ?
If the cost price Is 96% of the selling price, then what Is the profit percentage ?

dTK I.

TOT: (1.15) ^ : 450^ 20% + 280 "^RT 45% I
Evaluate ; 23% of 450 + 45% of 260.

:

Miyii*

^lyifeoa

yimi+

'i/Mn03

mw:

<I/Ma03

sww

ijMeca
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M-2020/GS-11I/08

31?^ : 1. 30 37^IHgtTti^ yq-wl, 3n5ttRiIVH^3Wttg 3TT^^^ftiIT10 9I^/TTg»qt%^ | ̂ 3J7? 34f^dr4 f I 03 (tft^)
^ ̂ ̂ ' (30x3=90)

Que.: 1. This question contains 30 very short answer type sub-questions. Answer each question in ideai 10 words/one line. All questions are compulsory
Each question carries 03 (three) marks.

(1.16)

NPCDCS Is abbreviated form of

^3^ :

TO: (1.17) ^ t
The causative agent of Dengue fever is

:

TO: (1.18) WT 3ft I
Ayushman Bharat Yojana Is the part of

3^ :

TO: (1.19) 2022 Sft ?

What was the theme of National Science Day 2022 ?

3^ :

TO; (1.20) ?

What is represented by gold color in biotechnology ?

3^ :

-8-
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M-2020/GS-III/09

TR^ : 1. ?H3R^ 30

I  ' -,-V-.''. ' ■'.' {30x3s:90)
Que.: 1. This question contains 30 very short answer type sub-questions. Answer each question in ideal 10 worda'one line.; All que^ons are compulsory.

Each question carries 03 (three) marks. „l ,

TO: (1.21) OT ^ ^ ̂  % HUT I
Write names of five generations of launch vehicles developed by ISRO. •

TO: (1.22) ?
How is electric energy obtained from oceanic energy ?

<in<. :

:

TO: (1.23) 3wTf ^ 3TN ̂  f ?
What do you mean by energy management ?

ItR :

TO: (1.24) ^ mm OT ̂  WftfM ̂  t ?
How does energy conservation helps In energy strategies ?

:

TO: (1.25) ^ :
(i) lUCN (ii) UNEP
Write the full forms of the following ;
(i) lUCN (ii) UNEP

3^ :

tjM=03

MIKIl*

'j/hfcOS

iyM=os

-9-
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IVI-2020/GS-II1/10
a

i Tnft arftgnf 11 03 (^)TTTl : 1. 30

sraif ̂  ̂ I . __,
(30x3*90^

Que.; 1. piis question contains 30 very short answer type sub-questions. Answer each question in Ideal 10 words^one line. All questions are comDUlsorv
Each question carries 03 (three) marks. r j

(1.26)' ̂ TcfcT ^ I
Explain the term sustainable development.

;

TO: (1.27) ?

What is nuciear energy ?

:

1/M=C3

HMI+

(1.28) "fen 3n^IR ̂  % qi5(\ ^ ^THT ̂jTRTT t ?
On what basis outer core of the earth is assumed to be liquid ?_

:

TO: (1.29) "3TI#3f"^t ?
What Is an "Arkose" ?

TO: (1,30)

What Is an "Ore" ?

!.

■i/M»03

STRTW

■10-
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"SnR : 2. w ^ 20 vigrrfk t I 3R^ 31?^ ̂  ^ 3TT^ 5:^ 7ft»TT 50 ?I^/5 ̂  6 Sf^PlT 1 Wft 3I7T 31^91^ "f I Ui^ch3iVH
05 (^) ̂  ̂ t I i <20x5s100)

Que.i 2. This question contains 20 short answer type sub-questions. Answer each question iniideai 50 words/5 to 6 ilnes. All questions are confipulsory.
Each question carries 05 (Rve) marks.

TO: (2.1) TOT ̂  ̂  ̂ I
Describe the phenomenon of Looming.

3^

TO: (2.2) ^ ^ "arrsm ̂  i

Explain the concept of anti-sound.

3tIT

'{JM=OS

3IMR;

l/nfeos

3IP^

•11-
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1-2020/GS-lil/12

Tiy?; 2. TO ̂  20 t l3ir^TO%:3T!T^3n^5i^^ftinso^/5^6qf^M I wft TO arftgrf | l^n^TO
OS (W) 3m ̂  ? 1 (20x5=100)

Que.: 2. This question contains 20 short answer type sub-questions. Answer each question in ideal 50 worda'S to 6 lines. All questions are compulsory.
Each question carries 05 (Five) marks.

TO: (2.3) ^ Wrrf^ I ^ 1TM ̂  ̂  f ?
Define nuclear fission. Why fission reaction produces large amount of energy ?

:

TO; (2.4) Wrrf^^ri^TT^ p, dt3^

I

Define Hund's rule of maximum multiplicity and tell the minimum number of electrons for pairing in p, d
and f orbitals.

^3tPC

HyM=c5

T/NfaOS

TOIW

-12-
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?rpT z2. w ^20 vigxrihr 3T-5rR t i % ant ̂  3tt^ so ̂ r^/S"^ eaf^mf ̂  i arf^gnf 11 at^a^i
05 ('^^) wst ̂  I I I (20x5=100)

Que.; 2. This question contains 20 short answer type sub-questions. Answer each question In Ideal 50 words/5 to 6 lines. All questions are compulsory.
Each question carries 05 (Five) marks. '

TO: (2.5) ^ ^

Comment on AIDS briefly.

:

TO: (2.6) ^ sr^afi m i

Comment on different stages of mitosis ceii division.

lyMaQS

an<Tra

"i/Maoa

Tram??

-13-
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M-2020/GS-III/14 EJ^Ej
:rii

IE]

05(Tira)3T^^tl (20x5=100)
Que.: 2. This question contains 20 short answer type sub-questions. Answer each question In Ideal 50 words/5 to 6 lines. All questions are compulsory

Each question carries 05 (Five) marks.

TO: (2.7) ^ 1

Explain about first generation of computers.

:

TO: (2.8) ^ f 3^k ^ f ? ^ ̂
What is social media and its importance ? Give any two suitable examples.

<iTi< :

H/M=06

nmm

St/M=.06

-14-
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M-2020/GS-III/15

: 2. 3I7T 20 ^ 1 3PFT % ^ 3T1^ 9T^ tfhn 50 91^/5 6 4(3^^1 I 119^ ^ I ^TFT
05 (^) ^ t I I (20x5=100)

Que.; 2.This question contains 20 short answer type sub-questions. Answer each question in Ideal 50 words'S to 6 lines. All questions are compulsory.
Each question carries 05 (Five) marks.

TO: (2.9) 10%"^ 27.50^. 2(1 1 ^25.75 wm,
^ xla^ia W ?
A book was sold for Rs. 27.50 with a profit of 10%. If it were sold for Rs. 25.75, then what would have
been the percentage of profit or loss ?

■3^ :

TO: (2.10) 50p, 25p3;^ 10p% 5:9:4 % 3gqT^ "cf f^ 206"^. I I ^
Hom ^TTcT I
A bag contains 50 p, 25 p and 10 p coins in the ratio 5:9:4, amounting to Rs. 206. Find the number of
coins of each type.

3^ :

1/M»06

-16-
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(20x5=100)Que.: 2. This question contains 20 short answer type sub-questions. Answer each question In ideal 50 words/5 to 6 lines. All questions are compulsorv
Each question carries 05 (Rve) marks. f i-

TO: (2.11) tm ̂  ™ t ^ t ?
Define communicable diseases and comment on types of Immunity.

(2.12) Ti^s^ W (RBSK) qqj I ? qr qqn?!'51^ I

Write short note on Rashtriya Bal Svasthya Karyakram (RBSK) and Its alms and objectives.

-16-
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3rR ;2.iF I 50^/5^ 1^ 1 atRgnf H 1 i
05 (W^) 3^?} ̂  t I I (20x5=100)

Que.: 2. This question contains 20 short answer type sub-questions. Answer each question in Ideal 50 words/5 to 6 lines. All questions are compulsory.
Each question carries 05 (Five) marks. I

TO: (2.13) (T7.3n|.) 3nq, to (^n^) (^) ^ to f ?
What do you understand by soft and hard artificial intelligence in using artificial Intelligence ?

3TR :

TO; (2.14) ^ ^ I^TOT I
Describe briefly the work responsibilities done by National Remote Sensing Centre, Hyderabad.

3tR

Vfeos

sreTRi'

'l/MaOS

VMiqi

•17-
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M-2020/GS-1I1/18

o, ^> T^ ^ ̂ t I (20x5=100)Uue.. 2. This question contains 20 short answer type sub-questions. Answer each question in Ideal SO words/5 to 6 lines. All questions are compulsorv
Each question carries 05 (Five) marks. "

5t^: (2.15) fetsilct "TC «t)<cll ?

What Is the principle of working of solar cell ?

m: (2.16) hi<hI\^ 3^ if 3T?R j

Differentiate between conventional and non-conventional sources of energy.

•18-
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1-2020/GS-lll/ig

: 2. W TO ̂  20 WRrito ̂ -TO t I 3R^ TO ̂  ̂  3TT?5^ 51^ 50 ̂ /5 ̂ 6 I ^ ̂ 3#^ f 13Ic^ TO
05 (qra) OTTt ̂  I I (20x5-100)

Que.; 2. This question contains 20 short answer type sul>queslions. Answer each question in ideal 50 words/5 to 6 lines. All questions are compulsory.
Each question carries 05 (Five) marks. -

m: (2.17) WR ̂  I

Describe in brief about photochemical smog.

:

<I/WK)5

TO: (2.18) ^ ̂3Ti i
Write in short about ecosystem services and their valuation.

<i/M=OS

-19-
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M-2020/GS-III/20

I^ ̂TR % 3tTT ̂  STl^ HIE? #n 50 ?Iig/5 0 ^ | ̂ 31^:1 sTp^nf H I in^SR
05(^ra)5R?t^tl (20x5=100)

Que.: 2. This quesUon contains 20 short answer type sub-questions. Answer each quesUon In Ideal 50 worda'S to 6 lines. All questions are compuleoiv
Each question carries 05 (Five) marks. .

TO: (2.19) mm 3^k mK5^ ̂  t ?

What Is the difference between weathering and erosion 7

^3tK

TO: (2.20) I

Define term "mineral".

H/M-os

SMR)

■j/MgQS

•20-
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M-2020/GS-III/21

57T : 10 3TI^?I^^200 l I l3It^3IH 11
I

Qu8.: 3. This question contains 10 long answer type sutK^uesUons. Answer each quesBon In Ideal 200 words. All questions are compulsory.
Each question carries 11 (eleven) marks.

TO: (3.1) 313 ^ ^ I^-KIK ̂  ^ I
Compare In detail the properties of ferromagnetic, paramagnetic and diamagnetic materials.

(10x11=110)

3xR :

-21-
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3r7T : 3. 10 t I Sn^3I7r%3Tn%.3TT^^I^^ftxn 200 I ^ I IIR^TRq 11 ('^ing)

Qua: S.This queslion contains 10 long answer type sub-questions. Answer each question In Ideal 200 words. All questions are comoulsorv
Each question carries 11 (elevOT) marks. k 7

3171; (3.1) continued (^nfl)

(10x11=110)

•S2-
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M-2020/GS-III/23 |

: 3. I ^ Silt ̂  ^ 200^1 3ltof| 13t^5W 11 ('stR?)
^1 ̂  I ! (lOxiisiio)

Que.; 3. This question contains 10 long answer type sub-questions. Answer each question in ideal 200 words. All questions are compulsory.
Each question carries 11 (eleven) marks. I

TO: (3.2) VSEPRft^^t ? ̂  te[ra % OTW ̂ CH^, ^ ^ I
What is VSEPR theory ? Discuss the shapes of CH_^, NHg and H^O molecuies on the basis of this theory.

;

•23-
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3I7T : 3. 10 I SR^ ^ 3T1^ 200 51^ ̂  I ̂  ST^gid f I SR^SIH 11 ('^IRB)
I

Cue.: 3. This question contains 10 long answer type sub-questions. Answer each question in ideal 200 words. All questions are compulsory.
Each question carries 11 (eleven) marks.

: (3.2) continued (^)

(10x11=110)

-24-
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"m t 3. ̂  311^ ?T^#IT 200 ̂  t I ̂  TJH 3?tal I ITR^STIII (''«??)
I

Que.: S.Thla question contains 10 long answer type sub-questions. Answer each question In Id
Each question carries 11 (eleven) marks.

eal 200 words. All questions are compulsory.
(IOxIIbIIO)

(3.3) ^ TO I ? TÔ  I ^rf^SfTT ̂  ^ I
What is immune system 7 Give its components. Describe innate immunity in detali.

J.

■25-
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UTH : 3. 1 SR^3nR%;3TR^3TT^?T^?ftm200^| l^3r9q.3Tteif 1 3n^3R^ 11 ('OR?) 3T^^t
Que.; 3. This question contains 10 long answer type sub-questions. Answer each question in ideal 200 words. All questions are compulsory.

Each question carries 11 .(eleven) marks.
317T : (3.3) continued

(10x11=110)

-26-
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M-2020/GS-III/27

; 3.^31^ ̂  I 3Ii?taB 3W % #TT 200 51^1 I ̂  3RR 3lPl«4r4 % I Ui^«h' JJH 11 33^ I (10x11=110)
Que.: 3. This question cxjntains 10 long answer type sub-questions. Answer each question In Idea! 200 words. All questions are compulsory.

Each question carries 11 (eleven) marks.

TO: (3.4) Ml^shlW Sfff^ ^ I
Explain the uses and applications of Microsoft Office Software.

-27-
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I

i3n^5R^ii i (ioxii=iio)
Que.: 3. This question contains 10 long answer type eut>-quesb'ons. Answer ̂ ch question In ldeal 200 words. All questions are compulsory.
I  Each question carries 11 (eleven) marks.

,■3?^ : (3.4) continued

-28-
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im

3RR : 3. 10 11 an^Tn^^ftqi 200 i ii ('?m?) 3j^^t i (ioxii=iio
Que.: 3.This question contains 10 long answer type 8ul>>questIone. Answer each question In Ideal 200 words. /Ul questions are compulsory.

Ea^ question carries 11 (eleven) marks. I

TO; (3.5) ^ ̂ 50 ^ 3(1^ ̂  ̂ ̂ t I ̂  ^Tf|gfT ̂  3^ W I
:  15 - 20 20 - 25 25 - 30 30 - 35 35 - 40 40 - 45 45 - 50 50 - 55 55 - 60 60 - 65

; 8 10 8 6 4 7 3 2 2 0
Ns50

The ages of 50 women v^o have committed suicide Is given below. Find out the average age of the women from IL
Age of women In years: 15 - 20 20 - 25 25 - 30 30 - 35 35 - 40 40 - 45 45 - 50 50 - 55 55 - 60 60 - 65
No. of women : 8 10 8 6 4 7 3 2 2 0
NsSO

"StR ;

•>,y ;'::v

■ " ■ ■■ ■' ' '.
-29-
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^ : 3. t yVH % ̂  ̂ an^ 51^ #n 200 ̂  11 1 11 ('mrg) 3T^^t 1
Que.: 3. This question c»ntains 10 long answer type sub-questions. Answer each question in ideal 200 words. All questions are compulsory.

Each question carries 11 (eleven) marks.

: (3.5) continued (^)

(10x11=110)

-30-
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I

3. lSIt^'5I^^^|g3TTcR^^^200?I5^t I il'ft 31^ I ('qn?)3T^^t I (10x11=110)
Que.: 3. This question contains 10 long answer type sub-questions. Answer each question In Ideal 200 words. Ml questions are compulsory.

Each question carries 11 (eleven) marks.

TO: (3.6) I

Give short comments on Ayush, AIDS and Covld-19.

-31-
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31^ : 3. W3r?5?^ 10 1 3TT^?I^^ 200 I 3r^ srf^gid t I 11 (nntj) 3?^^
Que.: 3. Thla question contains 10 long answer type sub-questions. Answer each question in Ideal 200 words. All questions are compulsory.

Each question carries 11 (eleven) marks.

Uyr! (3.6) continued (^)

11 (10x11=110)

\
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31?^ ! 3. 10 t 200^ t 1 3171 I 13It^3J7T 11 ('^nrg)
Qua: 3. This question contains 10 long answer type sub-questions. Answer each question Iri Ideal 200 words. All questions are compulsory.

Each question carries 11 (eleven) marks.

(10x11s110)

Tm: (3.7) <^i4shMl ̂  mH\U^ ^ i

. Analyze the social dimensions of India Space Programmes.

Ulkjl<4>:

-33-
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TO : 3. ̂ 31^^ 10 I 3tM^^ 200 71^1 I 57^ 3lftgrf f I 3J7H 11 ('mi?) I (10x11=110)
Que.: 3. This question contains 10 long answer type sul>quesHons. Answer each question In ideal 200 wcids. All questions are compulsory

Each question carries 11 (eleven) marks.

317^ : (3.7) continued (^rrtt)
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: 3. I 51H % ̂  ̂ STt^ ^ 200 | I ^'51^ 3lR=ll4 f I'SR^'SR^ 11 I (10x11-110)
Qua: 3. This question contains 10 long answer type sub-questions. Answer each question in ideal 200 words. All questions are compulsory.

Each question carries 11 (eleven) marks.

TO: (3.8) TT^ ^ % WTlte 1
Discuss key socio-political factors influencing National Energy Policy.

:

SllklIcK
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PH : 3. t I 200 I 31?^ 3^tei f 1 3It^3nR 11 I (10x11=110)
Qu9.: 3. This question contains 10 long answer type sub-questions. Answer each question in ideal 200 words. All questions are compulsory.

Each question carries 11 (eleven) marks.

3rH ; (3.8) continued (^)
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WT : 10 1 20071^1 I 1 11 (^^ini) I (10x11=110)
Que.: 3. This question contains 10 long answer type sut>questlons. Answer each question in id^l 200 words. All questions are compulsory.

Each question carries 11 (eleven) marks. '

TO: (3.9) ^ ^ I
Describe in detail about the major threats of biodiversity loss.

■3tR :
5rwi«K
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: 3.'5F3F^^io^^Trtl2rgq-'5J9^| I sic^^iH%3m^3n^?i^^fttTi200 I f i^if^aT^r 11

Que.: 3. This question contains 10 long answer type sub-questions. Answer each question in ideal 200 words. All questions ar6 compulsory.
Each question carries 11 (eleven) marks.

1171: (3.9) continued (^nO)

(10x11=110)
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"SRH: 3. ^ 10 % I at^wyw ati^ 51^ ̂fkr 200 5ie?t I ̂  ̂ 3iRm4t 1 ai^a^ 11 ('^r?) 11 (I0xii=ii0)
Que.i 3. This question contains 10 long answer type sub>questlons. Answer each question iri ideal 200 words. All questions are compulsory.

Each question carries 11 (eleven) marks.

(3.10) TJ?? ^ ^ ̂ ^ ̂  ̂
Describe the factors affecting soil formation.

dtK :
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SPACE FOR ROUGH WORK
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